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A stone projected at angle 53° attains maximum
height 25 m during its motion in air. Then its
distance from the point of projection where it will
fall is -

400
()75m  (2) 5-m (3)50m  (4)60m

The path of one projectile as seen by an observer
on another projectile is a/an :

(1) Straight line (2) Parabola

(3) Ellipse (4) Circle

A cannon ball has the same range R on a horizontal
plane for two angles of projection. If h, and h, are
the greatest heights in the two paths for which this
is possible, then -

(1) R=(h, hy)'/* (2) R = 3,/h;h,
(3) R = 4,/h;h, 4) R = ,/h;h,

A heavy particle is projected with a velocity at an
angle with the horizontal into the uniform,
gravitational field. The slope of the trajectory of
particle varies as -

slope
t slope
(1) \ (2)
> X
slope slope i
3) @ ° X

PART-A : PHYSICS

1.

CLASS - XI

ZONE - 1

53° @ BIV TR Bl AT G AGTH 25 m B HaTs ddb
A1 2 | ey fag | g %) wet U fiRan g, 8l -

400
()75m  (2) 5-m (50m  (4)60m

Tdh 37T YeT™ TR 93 UeTd @l gfte | SR Uer &1 Ul Bl

2, TP —
(1) I @1 (2) W

(3) e (4) 9

T 37T 3Tl W& DIV & T Ueh Iy & Tilel Bl FHI IR
R W< €fl 8 | AfG h, @1 h, S <1 w9 g2l & forg
3NfSreraH ST 8 al —

(1) R=(h, hy)'/* (2) R = 3,/h;h,

(3) R= 4,/h;h, (4)R= \/hh,

T HIRI YT DI U I ¥ &S I Yo DIV IR FASRY [T
&3 § wafa fovan SIrem 2 | w1 ot I & SR 59D T D
T T & 12 fors R gRafiid g —

slope
t
(1) \ (2)

slope

slope

slope

) t @

Space for rough work
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A force of 10 N is applied to a mass of 10 gm for 10
seconds. The change of momentum in Kg m s
units will be :

(1) 10 (2) 100 (3) 1000 (4) 0.01

A car running at 30 km/hr stops after travelling
8m distance on applying brakes. If same type of
car is running at 60 km /hr it stops after travelling
how much distance on applying brakes

(1) 8 metres (2) 16 metres

(3) 24 metres (4) 32 metres

In an experiment to determine the inertial mass
of an object using Newton's second law, following
graph is obtained between net force on the object
and the acceleration produced in it. The mass of
the object within error limits is

a(m/s?)
A

34

1E:o 3 11 3

1 SR & M 3’ T
()1.0kgr 3 3 (3 1kg

(3) (1.0+0.1D)kg (4) (1.0£0.2)kg
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10 gm SIHM &1 %] TR 10 N &1 9 10 s & forg owmn
SITY 1 a7 7 gRacE Kg m s™! & 8

(1) 10 (2) 100 (3) 1000  (4) 0.01
U% R 30 km/hr @ I 9 I 781 & 39 TR oI o 4
8m @ g TI Y wb W[l 2| I UM & IR A
60 km/hr @ I | ¥l I8! & IR 66 W IR I8 W]
3

(1) 8 #ex R (2) 16 Hex W

(3) 24 AR W (4) 32 WX R

T YIRS e % & ST Segq &1 $1d 6 &
forg =e=1 & faeira foem o1 s fovan, ot o 4 avg ot
TRV T 71T o1 USRI faa 1 2 S 91T 9 urwd gan | Ffe
Ararall # awg BT FHA B

a(m/s?)

A
34
2
13
1 rreerm I B | \)
i 2 3
(1) 1.0 kg (2) 1 kg

(3) (1.0+0.1)kg (4) 1.0+£0.2)kg
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10.

11.

Speedometer of a car measures

(1) average speed

(2) average velocity

(3) instantaneous speed

(4)instantaneous velocity

A cyclist moving on a circular track of radius 40 m
completes half a revolution in 40 s. Its average
velocity is :

(1) zero (2) 4 © ms™!

(3) 2 ms™! (4) 8 ® ms™!

A person is 25 m behind a bus, when bus starts
acclerating at 2 m/ s? and man starts moving with
constant velocity of 10 m/s. Time taken by him to
catch the bus is:

(1) 2s (2) 3s (3) 4s (4) 5s

A man in a balloon rising vertically with an
accleration of 4.9 m/ s? releases a ball 2s after the
balloon has left from the ground. The greatest
height above the ground reached by the ball is:

(g = 9.8m/s2)
(1) 14.7 m (2) 19.6 m
(3) 9.8 m (4) 24.5 m

10

11.

CLASS - XI

ZONE - 1

UH R BT TSI JI & -

(1) 3fraa aret

(2) 3 |d a7

(3) arcertore =T

(4) TTeerfores o

40 m 359 & U qAMdR 92T R T R I8 Uh Asfda
HAR 40 s ¥ AT TGDHR YOI PRl B, AT FADT 3T I &

(1) = (2) 4 © ms™!

(3) 2 ms™! (4) 8 ® ms™!

T et 2m/s% B @RI TR YRS B 9 P 25 m
0re Rerd ¢ @fdd 10m/s @ fraa o1 9 7fdy yesT aRan 2 |
IHD ERT 99 D1 Ydg ¥ foran 11 F7 g

(1) 2s (2) 3s (3) 4s (4) 5s

4.9 m/s* B TR IR SO0 TR o ey Rerd U AeH
TR & SRIA 9 961 & 2 HHUS YA U a Jad Bl
2 | g gRT eRTAe 3 U1 AfIhaH S B

(g = 9.8m/s2)
(1) 14.7m (2) 19.6 m
(3)9.8 m (4) 24.5 m

Space for rough work
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12. A student measures the distance travelled in free 12. U® foeneft fasma @ RENASE 3 frd o o U FHY ¥

13.

14.

fall of a body, initially at rest in a given time. He
uses this data to estimate g, the acceleration due
to gravity. If the maximum percentage errors in
measurement of the distance and the time are e,
and e, respectively. The percentage error in the
estimation of g is:
(1) e, + 2e,

(3) e; —2e,

(2) e, + e
(4) e, —€;
3
There is a physical quantity A = — . If there occurs

Q
an fractional error 'x' in P and an fractional error
'y'in Q then the maximum possible fractional error
in finding A would be:
(1) 2x-3y (2) 3x-2y
(3) 3x+2y (4) 2x+3y
The equation of state of some gases can be

a
expressed as: [P + Wj (V-b)=RT

where P is the pressure, V the volume, T the
absolute temperature and a, b, R are constants.
The dimensions of 'a’ are:

(1) MLT2] (2) [MLT?]

(3) [L7] (4) [L°]

13.

14.

IR 5 77 g0 @1 AT BT 2 | 98 T YA BT WA g DI
o & foIQ e & | IS g @ A | srfreds ufer
e e, vd T & AU ¥ A ufoRrd Ffe e, §1 1

TR @R g & A9 H gfrerd Ffe g
(1) e; + 2e, (2) e, + e,
(3) e; —2e, (4) ey —€,

BIS Wifers A=%%IH&IP # e Ffe 'x' g aen
Q ¥ s Ffe 'y & a1 A 4 i Ffe @ gt

(1) 2x-3y
(3) 3x+2y

(2) 3x-2y
(4) 2x+3y

ﬁﬂ%ﬁvzﬁmwﬁw(PJr%)(V—b)zRTg

STEf P &1d, V 3ga , T dfea § ara g @@im a, b, R fFraaie
2| al'a @ faur e

(1) [MLST2]
(3) [L7]

(2) [MLT2]
(4) [L°]

Space for rough work
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15. The frequency f of vibrations of a mass m 15.

16.

17.

suspended from a spring of spring constant k is
given by f = Cm* k¥, where C is a dimensionless
constant. The values of x and y are, respectively :

11 1 1
35 @373
1 1 11
® 373 W23

E, m, J and G denote energy, mass, angular

momentum and gravitational constant

. . . EJ?
respectively. The dimensions of G2 are same as
m

of -

(1) Angle (2) Length (3) mass  (4) time

If the relation between the displacement x of a
particle in time t is represented by the equation
X = ay,+ a;t?+ a,t? the value of acceleration of the
particle is -
(1) a

(3) 2(a; + a,)

(2) (ao + ay)
(4) 2a,

16.

17.

ZONE - I
wey R et fiTT fFradien k 8, | ofcd 8¢ m SgqH 9
I HFI DI AGRT £ = Cm* kY RIS 8,581 C Ud
fATEA fradia 2 | x T2y & e A g

11 1 1
33 @573
1 1 11
© 273 W 573

E, m, J 91 G J&f HII: Soll, TIHH, BT FdTT ToIn
Wﬂﬁaﬂiwaﬁmﬁfﬁwﬁ%ﬁ% 1 Ry
forae T B—

(1) BT (2) g (3) TIHM  (4) Y

i fH o1 & faReImus x T I9Y t | wF= 7 TR
X =a, + a,t? + a,t? 9 yeRid 81 a1 & & @RI BT A
BI—

(1) a
(3) 2(a; + &)

(2) (ao + ay)
(4) 2a,

Space for rough work
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18. A car is moving along a straight line OP as shown in 18

19.

20.

the figure. It moves from O to P in 18 s and returns
from P to Q in 6 s. Which of the following statement is

correct regarding the motion of the car?
o o P

| 1 !
I 1

I
0Om 240 m 360 m

(1) The average speed of the car in going from O to
1

P and come back to Q is 20 m s~

(2)The average velocity of the car in going from
O to P and come back to Q is 20 m s1.

(3)The average speed of the car in going from O to
P and come back to Q is 10 m s~1.

(4)The average velocity of the car in going O to P
and come back to Q is 30 m s7!

In a projectile motion the velocity

(1) is always perpendicular to the acceleration

(2) is never perpendicular to the acceleration

(3) is perpendicular to the acceleration for one
instant only

(4) is perpendicular to the acceleration for two

instants

The speed of a projectile at the maximum height is 20.

half of its initial speed u. Its horizontal range is-

u? 2u? NERE J3u?
W @f ©% 5 @5,

19.
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. U® BR TS Wil 31 OP & Jrgfast RAgar i e 81 8 |
JEOIPTH 18 sHTA FRAN e AN ANAPHA QTP 6 s
H 7Y DR B | DR DI A D Fed | D11 U el R

1 |
|

I
0Om 240 m 360 m

(1) O & P @& T a1 a1fid Q @ dles § dR a1 3fia
AA20m s

(2) O & P @& I @1 a1fi Q @ dles § dR &1 3iia
TT20m st g

(3) O & P @& I @1 a1fid Q @ dles § dR a1 3fia
AA10m s g

(4) O & P @@ I A a1fid Q @ dles § dR &1 3iia
TT30m sty

yereg ey /I

(1) TN TaRVT & odad arel &

(2) T W @RV B A ! Bl B

(3) fop<Y Uep &101 TR @RV & ofFdq BIcll &

I0 o P
I

(4) fR<hl 1 &707} UR @RI & ofaq eicll @

U YT 1 B SHars IR AT $96T YRS ol u b
3l 2, A1 39! &fS wRTd B

u? 2u? J3 u? J3u?
05 @G 6%, @,

Space for rough work

6

y,

4
“eRUTIE "’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 A




TEST CODE
2807

21. A simple pendulum is suspended vertically from 21.

22.

23.

the ceiling of a car. If the car is moving with an
acceleration of 0.49 m/ s?, the string of the simple
pendulum will make an angle with the vertical
whose magnitude will be :

(1) 0° (2) tan 1(0.05)

(3) tan? (1/\/5) 4) tan™'(V3)

Two masses 10 kg and 20 kg are connected with
a massless spring as shown in the figure. A force
of 200 N is acting on the mass 20 kg. When the
acceleration of 10 kg mass is 12 m/s?, the
acceleration of 20 kg mass is :

10kg 20kg
F

(1) 12 m/s? (2) 4 m/s?

(3) 10 m/s? (4) zero

A body of mass Skg is suspended by string making
angle 60° & 30° with horizontal then :

(a) T, = 25N (b) T, =25 N
() T, =25 /3N (d T,=25 3N
(1) a, b (2)a, d (3)c,d 4) b, c

22.

23.

CLASS - XI

ZONE - 1

TP RS Alddd SR D g H SedleR dehral T 8 | afe
FR 0.49 m/s? TR F TA W& & AN IRA ATeAd BT S
SeafaR A S BIvT 19N, SHBT A BT

(1) 0° (2) tan™1(0.05)

(3) tan_l(l/\/ﬁ) 4) tan™'(V3)

i & AR 1 S99 10 kg 3R 20 kg U6 ARIEd
BT gRT e A 21 20 foh g+ = W 200 N &7 9o
BT B ET 8 39 &V, 10 kg SHHAM BT @R 12 m/s?
20 I G &1 @R /T T

10kg 20kg
F
(1) 12 m/s? (2) 4 m/s?
(3) 10 m/s’ (4) T
S5kg &AM @1 Ud fUve & & 1 60° d1 30° &1
BT g1 gY IR F ACHIAT 1 B Al
T, T,
60° B 30°
(a) T, = 25N (b) T, = 25 N
) T, =25 /3N (d T, =25 /3N
(1)a, b (2) a, d 3)c,d (4) b, c

Space for rough work
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24. A beaker is half filled with water. It is allowed to 24.

slipe on an inclined plane at an angle 6 with the
horizontal. The water surface will be :

~N ~N
0 ) )

(2) (b) (©

(1) according to the figure (a) if the beaker moves

~N

with a constant acceleration
(2) according to figure (b) if the beaker moves with
a constant acceleration
(3) according to figure (c) if the beaker moves with
a constant acceleration
(4) according to figure (b) if the beaker moves with
a constant velocity
25. A body kept on a smooth inclined plane having 25.
inclination 1 in x will remain stationary relative
to the inclined plane if the plane is given a

horizontal acceleration equal to :

2
1) (V=2 -1)g 2) ( Xx_ljg

gx g

© Ve 1 N

TEST CODE
2807

U QIR ST U+ F WRT 2| 39 afas 0 PIvr IR A
S a8 R e e Sirar ® a1 Ut o7 I 81T

s
0 0 0
(b) (c)

(a)
(1) afe = FId @R | 71 F3a1 2 A i (a) & AR

(2) afe = Frad @=oT F 71T Fa1 € @1 7 (b) & AR

(3) fe M= fFrad @R | 71 A1 8 1 77 (¢) & AR
(4) IfE = Frad a1 | TR =1 © A o F (b) B AR

e free 90 It e (@ x H 1) W 9 3] favm
sraeen # v Ife 79 7t @1 fan mn &fvs @R g

1) (V=2 -1)g

gx g

© Ve 1

Space for rough work
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26.

27.

CLASS - XI

ZONE - 1

116 mg of a compound on vaporisation in a Victor 26. &% difie @& 116mg P fdaex FAR IYHRT H AT IHRT

Mayer's apparatus displaces 44.8 ml of air
measured at S.T.P. The molecular weight of the
compound is -

(1) 116 (2) 232 (3) 58 (4) 46.4

Two students performed the same experiment
separately and each one of them recorded two
readings of mass which are given below. Correct
reading of mass is 3.0 g. On the basis of given
data, mark the correct option out of the following

statements.
Student Readings
(i) (i)
A 3.01 2.99
B 3.05 2.95

(1) Results of both the students are neither
accurate nor precise.

(2) Results of student A are both precise and
accurate.

(3) Results of student B are neither precise nor
accurate.

(4) Results of student B are both precise and
accurate.

27.

B 9 STP UR 44.8ml I fazenfia greh ¢ i @1 a7

AR BT—

(1) 116 (2)232  (3)58  (4) 46.4

g1 faenfefat 1 b &1 T BT SrerT—aTelT foham iR &R B
9 $9 ISR A1 SFAM & &1 UIgdid U Ry S
fofeRad € | goaam o1 wel ursdie 3.0 g &1 Ry v
el @ MR W F=faRad sl 7 9 98! fawea &1
T DHIFY |

foemeft BirpICd
(i) (ii)

A 3.01 2.99

B 3.05 2.95

(1) a1 fyenfef & urgaie = o uRyE ofiv 1 £ et |
(2) faeneit A & sride uRyg 1 € 3R gormed 01 ¢ |
(3) faeneft B & ativs =1 a1 uRyE ¢ 8iR 7 &1 armef |

(4) fenefi B & i ulRgre 1 € SR Fermed o |

Space for rough work
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Which of the following statements is correct about 28.

the reaction given below :
4Fe(s) + 30,(g) —> 2Fe,04(g)

(1) Total mass of iron and oxygen in reactants =
total mass of iron and oxygen in product
therefore it follows law of conservation of mass.

(2) Total mass of reactants = total mass of product;
therefore, law of multiple proportions is
followed.

(3) Amount of Fe,O; can be increased by taking
any one of the reactants (iron or oxygen) in
excess.

(4) Amount of Fe,O, produced will decrease if
the amount of any one of the reactants (iron
or oxygen) is taken in excess.

For which of the following electrons distributions

in ground state, the pauli’s exclusion principle is

violated?

W BT (6 CETATR
s P S p

3) . 4
s P S p

Which of the following set of quantum numbers is 30.

an impossible arrangement?

n l s
(1) 3 -2 + Vo
(2) 4 3 +Y
(3)5 2 —Va
4) 3 1 +Y%

29.

TEST CODE
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fraforRaa srfferar & favy & iar o= 98 8 ?

4Fe(s) + 30,(g) —> 2Fe,0,(g)
(1) 3l § @18 IR AR BT Hl TFTH = IR
H A8 3MR SIS BT [l G@HA | 3T Jel G
TReA9 & g T Ure 21 Y@ R |

(2) IfNPHD HT Hol THHT = ITRT T F G, 37,
TR SrguTd @ a9 T Tl B T |

(3) forsll Ua fFFHS (i AT ARAS) Bl 3MfdaT |
IR Fe,0, @I AT 9618 Ol Hhdl ¢ |

(4) afe 5N T S (Arg sian ifa=iior) @1 rmfe
TR for S d1 Fe,,O, &1 Icdrfad A3 &4 8
ST |

el ol =] # i1 # | SIH golag = fadvor § urshetl &

3ot RIgT=d @) Soofg Il & ?

]

(1) 2s 2p @) 2s 2p
3) . )
s P S p

1 5 § DI GaTICH HAIS] BT FHTIY 3G © 7

n l s
(1) 3 -2 +Vs
(2) 4 3 +Y
(3) 5 2 —V
4) 3 1 +Y

Space for rough work
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31.

32.

33.

34.

35.

36.

37.

38.

The mole fraction of NaCl in a solution containing
1 mole of NaCl in 1000 g of water is :

(1) 0.0177 (2) 0.001 (3) 0.5 (4) 0.244

The percentage of nitrogen in urea is about :

(1) 38.4 (2) 46.6 (3)59.1 (4)61.3

The volume of a triatomic gas is 224 ml at NTP.
The no. of atoms in gas are :

(1) Na (2) 3 Na

(3) 0.003 Nju (4) 0.03 Na

The reaction, 2C + 20, ——> 2COs, is carried out
by taking 24 g carbon and 96 g O,. Which one is
the limiting reagent ?

(nyc (2) Oz

(3) COy (4) None of these

Insulin contains 3.4% sulphur. The minimum
molecular weight of insulin is-

(1) 350 (2) 470 (3) 560  (4) 940

The quantum number not obtained from
schrodinger equation is :

(1) n @)1

(3) m 4) s

Calculate the wavelength of a photon emitted when
an electron in H- atom maker a transiton from n=2
ton=1

(1) IR (2) 3R (3) 3R * 5r

If an electron in H-atom jumps from one orbit to

other, its angular momentum doubles. The

distance of electron from nucleus becomes _____

times the initial distance.

G5 @
2 4

(1) 2 (2) 4

31.

32.

33.

34.

35.

36.

37.

38.

CLASS - XI

ZONE - 1

faerae frH 1 Hid NaCl, 1000 g 9l § SufRerd g,
NaCl &1 |1 fi=1 grim—

(1) 0.0177 (2) 0.001  (3) 0.5  (4) 0.244
IRET | ASEIo &1 yfrerd g—

(1) 38.4 (2) 46.6 (3)59.1 (4)61.3

T Froxeifoae A9 o1 NTP WR 3ady 224 ml e | N &
JRATOLSI @l et -

(1) Na (2) 3 Na

(3) 0.003 Nu (4) 0.03 N

afafean, 2C + 20, ———> 2C0,, 24 g BIEAINR 96 g
3T i Yot ars STl 2, At T S d R BIvT—

(1) C (2) O2

(3) CO, (4) T A BIg T

e H 3.4 Ufcrerd HewR € | $gfeT BT YicH AR
BRT—

(1) 350 (2) 470 (3) 560  (4) 940

AR FHIHIOT | H1 T FqT0eH =T H2) fHAd)
2

(1)n (2) 1

(3) m 4) s

TSSO URATY] &1 Uoh Seldg i n=2 A n = 1 H HHHT HRal
2 o SoafTd 819 aTel BISIH &) dilgd B 41+ BT ?

(1) IR (2) 3R 3) 3R (4) R
T BISSIST URHATY o Yeb Soiarsi 11 Yeb hefl § ST Gl el
H ST 2 1 ST DIvfi Fa Q1A 81 STl & Al Seiag 19 !
Bad W g YRS g8 F favae 1 81 Sef —

(12 (2) 4 3)

1
4

N |~

Space for rough work
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39. The correct set of quantum numbers for the 39.
unpaired electron of chlorine atom is :
n l m,;
(1) 2 1 0
(2)2 1 1
(3)3 1 1
“4) 3 0 0
How many maximum possible number of electrons 40.

40.

41.

42.

Y. CcLC

¥
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in an atom that can have (n + () = 8?

(1) 30 (2) 32

(3) 15 (4) Unpredictable

In vander wall's equation of state of the gas law,
the constant b is a measure of :
(1)intermolecular repulsions.

(2)intermolecular attraction.

(3)volume occupied by the molecules.

(4) intermolecular collisions per unit volume.
The volume of a gas increases by a factor of 2 while
the pressure decreases by a factor of 3. Given that
the number of moles is unaffected, the factor by
which the temperature changes is :

(1)3/2 (2) 3 x2

1
(3)2/3 4) 5 *3

41.

42.

TEST CODE
2807
FARI URATY & AT gelag =1 & foIy qaroeH sl a1
e ST ©
n l m,;

(1) 2 1 0

(2) 2 1 1

(3)3 1 1

4) 3 0 0

T GRATY H (n + () = 8 dTel ifAHH T=7q fovae gelag 4
B Fdhd 8P

(1) 30 (2) 32

(3) 15 (4) TOTT TET IR Fhd B

14 9 & aqrosdte FaRe H, ReRi® b STgHI0 ©

(1)eraRifdads ufcrardor &7 |

(2)raRIfOad STHTT 0T |

(3) 3707311 §TRT TN Y AT B |

(4) I 3T SIaRTGd TadhRi Bl |

T 9 &1 I 2 & T[0T A 961 &, Tdfeh &9 3 B [T
| D BT § | AF AT B A1 I I8 9 19 8 gRad
for ToTies | 21

(1)3/2 (2)3x2

1
(3)2/3 @) 5 x3

Space for rough work
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43. A bubble of air is under water at temperature 15°C 43.

44.

45.

and the pressure 1.5 bar. If the bubble rises to
the surface where the temperature is 25°C and
the pressure is 1.0 bar, what will happen to the
volume of the bubble?

(1) volume will become grater by a factor of 2.5
(2) volume will become grater by a factor of 1.6
(3) volume will become grater by a factor of 1.1
(4) volume will become grater by a factor of 0.70
The following graph illustrates

\Y

1

’ Temperature(OC)
(1) Dalton's Law (2) Charle's Law

(3)Boyle's Law (4) Gay Lussac' Law

Two flasks of equal volume are connected by a
narrow tube (of negligible volume) all at 27°C and
contain 0.70 mole of H, at 0.5 atm. One of the
flask is then immersed into a bath kept at 127° C,
while the other remains at 27° C. The final pressure
in each flask is :

(1) Final pressure = 0.5714 atm

(2) Final pressure = 1.5714 atm

(3) Final pressure = 0.5824 atm

(4) None of these

44.

45.

CLASS - XI

ZONE - 1

T IR HT gorgen Ul @ ra 15°C a9 @2 1.5 bar &4
W 2| afe gegen Fag WR ST B, SiEf W) arg 25°C den
g 1.0 bar 2, gl $ AIT H a1 uRac sIT?

(1) AT 2.5 & OTD §RT I$T & SR |
(2) I 1.6 & TOTD ERT IT & SR |
(3) 3T 1.1 & OIS FRT §T B SR |
(4) AT 0.70 & OIS §RT I$1 & SR |
fr=ferRRaa o garar 8

?

— a0
(1) Sfee &1 fFram (2) T @1 fraH
(3) dfga &1 s (4) Ig8® @1 frm

THT 3T & &1 U 1 27° C TR Y AR AfAdT (A0
3T aTell) & §IRT SIIST STl & Tl I8 0.5 atm W H, &
0.70 HId g & | $779 9 U U3 &I 127° C A0 W Wi
TS (d127) H @1 AT 2 ST GaR 1 27° C WR & @1 A1l
2 I U urA H o1f<aH q1q = BIm

(1) sf~aH &9 = 0.5714 atm
(2) Jf~H g9 = 1.5714 atm
(3) 3rf=aH &T9 = 0.5824 atm
(4) 379 | DIS 7TE

Space for rough work
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If the electron is accelerated by 100 volts, than the
associated wavelength is :

(1) 12.27 A (2) 1.227A

(3) 122.7 A (4) 0.285 A

Which of the following pair of gases will diffuse at
the same rate through a porous plug ?

(1) CO, NO, (2) NO, C,Hq

(3) NO,, CO, (4) NH;, PH,

The ratio of van der Waals constant (a/b) has the
dimensions :

(1) atm L (2) L atm mol™’

(3) atm mol Lt (4) atm L mol?

A bottle of dry ammonia and a bottle of dry HCl
connected through a long tube are opened simul-
taneously at both ends, the white ammonium
chloride ring first formed will be —

(1) At the centre of the tube

(2) Near the HCI bottle

(3) Near the ammonia bottle

(4) None of these

Four particle have speed 2, 3, 4 & 5 cm/s 50.

respectively. Their rms speed will be.

27
(2) (7)cm /s

(1) 3.5 cm/s
(3) V54cm /s (4) gcm /s

46.

47.

48.

49.

TEST CODE
2807

Ifd TGS 100 volts & @RT a1 ST & 9 394 !
aaRed B

(1) 12.27 A (2) 1.227A

(3) 122.7 A (4) 0.285 A

P 9 @ g TEE &) 9 U fow 9 el Bk g 2

(1) CO, NO, (2) NO, C,Hy
(3) NO,, CO, (4) NH,, PH,
dfvexdiet ReRi® (a/b) @ JFFUTd BI {471 2 :

(1) atm L (2) L atm mol™’

(3) atm mol Lt (4) atm L mol?

b IR B U diae Wil Ysb HCl & U diciel & ATl
T el RT 1 €8 ¢ | &1 DI Y |1 WAl A1l 2 |
IR FARISS & THe Bool A TSl Dal 9 —

(1) el & % W

(2) HCI arett a1da & urd

(3) s arel drdd @ U

(4) SR § F BIS T

IR B & ford arel HHE: 2, 3, 4 TAT 5 cm/s B, 79
rms TS BT A BRT—

(1) 3.5 cm/s
(3) V54cm /s (4) gcm /s

Space for rough work
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51. The food that enters into intestine from stomach is : 51. o= oIl AT ¥ 317 | Ufdss ST &, B

(1) Alkaline chyle (2) Basic chyme (1) &R BISA (2) &R BTSH
(3) Acidic chyme (4) Bolus (3) 3relg BIgH (4) drerd
52. Trypsinogen is activated by — 52. fefeawom o1 afr foar wmar & -
(1) HC1 (2) Enterokinase (1) HC1 g1 (2) TIPS IR
(3) Bile (4) Chymotrypsin (3) o<t g1 (4) drgAfeaT grT
53. Which among the given ones is not a correct matching 53. % &3 7 § | Ha1 Uah L) e 81 2
Enzyme Source Description goITgHd Hid fagzor
(1) Carboxy Papgreatic An e?(opeptidase: (1)|@rafe=dt SRS INDI iéﬁiﬁ?éﬂ?ﬂl
peptidase acini g;laglli{;lnf }gﬁ ep;eptlde YreTgeT Acini BN
(2)(Maltase Salivary A carbohydrase (2)|HTeewt RINDEID] U& PHEIEgR il _
glands cleaving the a-1,4-glycosidic §¢
a-1,4-glycosidic bond Pl ATSA S |
e ekt o the dipeptider. | | |oereressr [T an [T AL I
into amino acids &N '
(4)| Enterokinase|Duodenal  |Converts zymogen (4)|geeRrdpreast [l & e STATS fe e
mucosa tryps%nogen into Pl @f@ﬁ §geardr 2 |
trypsin DT
54. The activities of gastrointestinal tract — 54. SISN 313 9 o fhamd —
(1) are under neural control only (1) daat e fr=or & fafd gl 2|
(2) are under hormonal control only (2) dact A R & 3faid Bl € |
(3) are under neural and hormonal control (3) df3arg den iFa fE=v & Sfaed gl € |
(4) are under neither hormonal nor neural control (4) T ar gl =1 8 d¥arg s & sfasta gl 2 |
55. Match the following : 55. f @1 gafera #IvT ¢
(I) Tongue (A) A vestigial organ. (1) fSen (A) 3TaRIY 3|
(II) Pharynx (B) Host some symbiotic (I) &1 (B) SEoidl geAoid ¥&d ¢ |
microorganisms.
(IT) Caecum (C) Wind pipe open into it. (ITT) ST (C) argATe $AH Forehl @ |
(IV) Appendix (D) Attached to the floor of the (1) 9R=IfY®T (D) 9@ &1 & T | We & g1 Je!
oral cavity by the frenulum. el © |
(1) I-D, 1II-C, III-B, IV-A (2) I-D, II-C, III-A, IV-B (1) I-D, II-C, III-B, IV-A (2) I-D, II-C, III-A, IV-B
(3) I-D, II-A, 1II-C, IV-B (4) I-D, II-B, III-C, IV-A (3) I-D, 1I-A, III-C, IV-B (4) I-D, II-B, HI-C, IV-A
56. Hydrolytic enzymes are found in— 56. TIgSIATsie® fams fierd 8-
(1) Mitochondria (2) Lysosome (1) ATserdifrgar § (2) ersHrEE H
(3) Chloroplast (4) Ribosomes (3) ERT T H (4) TEErEE |
57. The post mitotic phase of the cell in which active 57. WﬁWWﬁWWT?WRNA
synthesis of RNA and protein takes place is: AT TS BT AfhT AT Il &
(1) S-phase (2) Amitotic phase (1) S-phase (2) Amitotic phase
(3) G, phase (4) G, -phase (3) G, phase (4) G, phase

15
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Golgi body arranged near the nucleus in cell -

(1) Centric (2) Peripheral

(3) Marginal (4) Concentric

Choose right statement in given options, about
membrane transport -

(1) Passive transport - Use of ATP

(2) Osmosis - Diffusion of water through plasma membrane
(3) Facillated Diffusion - Not use of protein

(4) Active transport - Not use of energy

Which of the following match is wrong :

Starch

Fatty acids

Oils and fats
Carotenoids

(1) Amyloplast -
(2) Aleuroplast -
(3) Elaioplast -
(4) Chloroplast -
Trachea divide into a right and left primary
bronchi at the level of —

(1) 7% thoracic vertebra (2) 5% thoracic vertebra
(3) 7™ cervical vertebra (4) None of these
Carbonic anhydrase enzyme found in :

(1) RBC (2) WBC

(3) Platelets (4) All

The conditions which are favourable for the
formation of oxyhaemoglobin —

(1) | PO,, M PCO,, | H conc., 1 Temperature
(2) T PO,, 1PCO,, | H conc., | Temperature
(3) 1 PO,, | PCO,, {H" conc., | Temperature

(4) { PO,, | PCO,, 2 H' conc., 1 Temperature
Adam's apple represents :

(1) cricoid cartilage

(2) thyroid cartilage

(3) pharynx

(4) None of these

Go through the following matches

(i) Functional residual capacity = ERV+IRV + RV
(ii) Expiratory capacity = TV + ERV

(iii) Vital capacity = ERV + TV + IRV

(iv) Total lung capacity = RV + ERV + IRV
Which of these are correct :

(1) (@), (i) & (iii) (2) (i), (iii) & (iv)

(3) (1) & (iii) (4) (i) & (iii)

58.

59.

60.

62.

63.

64.

65.

TEST CODE
2807

PIRGT H Bad D U TieodI JIRT BIal 28—

(1) ST I A (2) aRT wU A

(3) XTI wu « (4) G- Y A

et I @ IR | fay I fawedl § 9 98 &1 w9+
P

(1) ffSpa ™= — ATP &1 SUaT

(2) TRTERTT — ST BT DIRTHT f3reell | =0T

(3) G fa=oT — W &1 SUAIRT e

(4) Afa AT — Sl BT ST LT

o1 9 1 B e TTerd -

Starch

Fatty acids

(1) Amyloplast

(2) Aleuroplast -

(3) Elaioplast — Oils and fats

(4) Chloroplast — Carotenoids

Sfoar g1fes 9 91 wafie diers # fod wR w fafad
Il &—

(1) 78 qeT FewDT (2) 591 aefrg HAwDBI
(3) 7t Frar BT (4) T A 31 T8
BT H TIEIgSS UroiTsH fad uran SIrd &

(1) RBC (2) WBC

(3) Platelets (4) All

STRIEATA T & o & srgde & ford nfcrag 8 —

(1) | PO,, 1 PCO,, | H" &r=al, T dm
(2) 1 PO,, 1 PCO,, | H" Hr=dl, { am™
(3) 1 PO,, | PCO,, {H" |r=d, | dd

(4) | PO,, | PCO,, 1 H" dr=dl, 1 a9
veH yud yelRia grar 28—

(1) frpige SuriRer

(2) uTERizS SUIfRe

(3) wRaw

(4) 379 | DIg &I

o1 &1 e oI

(i) drateIs sraeifl & = ERV+IRV + RV
(ii) STeafdd gAdT = TV + ERV

(iii) Sifd® &¥d1 = ERV + TV + IRV

(iv) IOl GFRHTT &1 = RV + ERV + IRV
STH & PINT AE B
(1) (), () & (iii)
(3) (1) & (iii)

2) (i), (i) & (iv)
(4) (i) & (iii) 16
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66.

67.

68.

69.

70.

71.

72.

Where does a motor neuron stimulate a muscle

fibre :

(1) the neuromuscular junction

(2) the transverse tubules

(3) the myofibril :

(4) the sarcoplasmic reticulum*

The resting membrane potential for neuron A is -

70m V, while the resting potential for neuron B is

-50m V. The threshold voltage for the production

of an action potential is -35mV for both neurons.

Which of the following statements is incorrect

(1) Neuron A must depolarise by 35mV to reach
the threshold voltage.

(2) Neuron B must hyperpolarised by 15mV to reach
the threshold voltage.

(3) The inside of both neurons is negatively charged
with respect to the outside.

(4) A single EPSP received by neuron A would cause
it to depolarise slightly.

Third and fourth ventricle of brain is connected

through

(1) Foramen of Monro  (2) Duct of Sylvius

(3) Foramen ovale (4) Ligamentum arteriosum

Mark the key communication link between the

senses and the cortex that receives majority of

incoming signals, evaluate their importance before

passing them to the cerebrum?

(2) Thalamus

(4) Basal ganglia

(1) Hypothalamus
(3) Epithalamus
Which part of brain plays important role in
emotional behaviour such as aggression and
remembering fear?
(1) Pons

(3) Corpus striatum

(2) Amygdala

(4) Cerebrum

How many double circulations are normally
completed by the human heart in one minute :
(1) 8 (2) 10 (3) 36 4) 72
Maximum pressure of blood experience during
when blood enters from :

(1) right ventricle to aorta (2) right auricle to aorta
(3) left ventricle to aorta

(4) left auricle to aorta

66.

67.

68.

69.

70.

71.

72.

CLASS - XI

ZONE - I
BB IR TP IRP afrdT U X &1 ART Preil 87

(1) df>ramr ueht |

(2) srgreer TiferaT

(3) Ul Werd

(@) Araienids Yragem

afeT A & forg fasm @et fawa —70 mv 8 wafes df3a1 B
% forg fasm wen fawa —50mv 2, SF1 df¥ere 3 fira
fava I~ R g el fawa —35 mV 2 | 1 94 9 i
P TTeld B

(1) S8l dlecsl 0@ Ugar & oy <=9 A BT 35mV gRI
fagfad sz =@y |

(2) ST dlecdl TP Ugad & oIy =R B @I 15mV g§RI
rfagfad e =nfey |

(3) T AFNBTY aTel |AE B o1 H MRS W A F UM
g

(4) TP A BRT UTW Y& Yo sUINHU (Excitatory
postsynaptic potential) 9 2iT$T fagfad &= 3 |

AR B Joig a Fge e s A S B €

(1) A RT & g (2) Rrafaas @ aferar

(3) JveTHR Ragan (4) formaH IREIRTTH
HIG 9 Iedic & 41 G WA bl @ fAfed S St
Ps I Fhdi DT T HIAT © R yaRTS F ST A

Ugol Sd Hgcd Dl 3Mdhford dIdl & ?

(1) eI A (2) et

(3) vfrema (4) IR [BD

AR BT DITH AT gD FTER oI =TT 3R R B AE
H HAeage! yfHeT e g ?

(1) 9= (2) Tfrean

(3) ®TUH TTSYCH (4) vaRas

forem fguRea=or wmoa w9a gea g 1 fime o gof 8
g?

(1) 8 (2) 10 (3) 36 4) 72
NfIHaH Yo ST S QIR UfaTd 81T § 979 Yo UafRid i
T

(1) R e | FEra | (2) 31 anfeig | AggH= |
(3) 91 frera & wergs | 17

(4) a aRiE & A A ?l

A
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Which of the following sequences is truly a

systemic circulation pathway ?

(1) Right ventricle ——> Pulmonary aorta ——
Tissue — Pulmonary veins —> Left auricle.

(2) Right auricle——> Left ventricle —> Aorta
—> Tissue —> veins —> Right auricle

(3) Left auricle——> Left ventricle — Pulmonary
Aorta —> Tissues——> Right atrium

(4) Left auricle—— Left ventricle —— Aorta——> Arteries
—> Tissues —> veins —> Right atrium

Match the following columns :

Column I Column II

A. Fibrinogen I. Clotting or coagulation

of blood
B. Globulins II. Defence mechanism of
body
C. Albumins III. Osmotic balance
Codes :

(HWA-UI,LB-II,C-1 (2)A-U,B-I,C-1I

B)A-II,B-I,C-II “#A-I,B-II,C-III

The most popularly known blood grouping is the

ABO grouping. It is named ABO and not ABC,

because 'O' in it refers to having :

(1) Overdominance of this type on the genes for A
and B types.

(2) One antibody only, either anti-A or anti-B on
the RBCs.

(3) No antigens A and B on RBCs.

(4) Other antigens besides A and B on RBCs.

73

74.

75.

TEST CODE
2807

. Fr=faRed # & 9w o d Ua aafds <fdd gREERo
T §?
(1) e e ——> RFIFRAT g9 —> b —>>
(2) T afele ——> 91 e ——> A IgHAl —>
(3) aTT IHIfeAE—>qT] T ——> RHRHIY FETEH!
EED ERIECIES
(4) 911 Arfeie ——> I e ——> HRIEgH —>

1 Al a1 fres IR

w1 w11

A. BTG . DT 991 AAAT I7H B
ThEH

B. Ao II. IR & GRETCHD
fepanfash

C. Uegfi=d 1. URTHRYT A

xT T

(1) A-I,B-I,C-1 (2JA-II,B-1,C-1II
B)A-I,B-1,C-III (4)A-1,B-1I,C-III
IS ABOT ST Th Fg ABO T T | SHHI AW ABO
2, ABC 78I, ®ifd 388 'O @1 31 &

(1) S S A T B TR 3 1fdd ywifaar gwid 2 |

(2) RBCs W ®ad & &1 uferefl urg o ® a1 a1 anti-A
gl anti-B

(3) RBCs R &I A 3R B uforei &

(4) RBCs WX A 3R B & 3ifaRad geioH

Space for rough work
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CLASS - XI
PART-D : MATHEMATICS ZONE - I
76. If n(A) = 15, n(B) = 20 and n(A n B) = x, then 76. afg n(A) = 15, n(B) = 20 3R n(A n B) = x, d9
(1) 15<x<20 (2)0<x< 15 (1) 15 <x <20 (2)0<x< 15
3)0<x<5 4)0<x<15 3)0<x<5 4)0<x<15

7.

78.

79.

80.

The number of value (s) of 'x' in the interval [O,Sn]

satisfying the equation 2sin?x +5sinx -3 =0 is

(1) o (2)1
3) 2 (4) 4
The positive integer value of n > 3 satisfying the
. 1 1 1 .
equation = + 1s
. (nj . (an . (Snj
sin| —| sin| — | sin| —
n n n

(1) 2 (2) 3
(3) 4 (4) 7
The greatest value of (1+ 8 sin? x? cos? x2) is
(1) 9 (2 -8
) 3 -1

Minimum value of
sinx tanx

Jl—cos?x +l-sin’x +sec?x-1 +cosec’x—1

COS X cotx

whenever it is defined is -
(1) 4 (2) -2
(3) 0 4) 2

7.

80.

AR [0,3n] H 'x' B ST AMI B A=A WAl GHIBRT
2sin?x +5sinx —3 =0 P TGE B B, B —

(1)o 2) 1

(3) 2 (4) 4

3@ n > 3 8 d n &1 98 gUI@IT 919 W1 FHIGROI

1 1 1
sin(n) sin(znj ' sin( 37{) @I XSS Rl g
n n n
(1)2 (2) 3
(3) 4 4) 7
. (1+ 8 sin? x* cos? x?) @1 3T AT BRM —
(19 (2) -8
(3) 3 4 -1
sinx CcOSX tanx cotx

Ji—cos’x +l-sin®x +Jsec?x—1 +cosec’x—1 K

AT A BN, W9 I gRATRT 8 —

(1) 4
(3) 0

(2) -2
(4) 2

Space for rough work

19

y.

A
‘U’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 A\




Y. CcLC

¥

81.

82.

83.

84.

85.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

If A and B are any two sets then A U (A n B) is 81.
equal to :

(1) A (2) A°

(3) B (4) B

Which of the following is a null set ?

(1)

(2) x:x e Nand x—-4 <15}
B)fx:xeN,x<5and x> 8}
(4) &x : x € N and x° < 40}

x:erand_—1<x<g
2 2

If n(A) =i+ 1 and A,CA, CA,C...CA,, 83.
99

thenn(UAij=
i=1

(1) 99 (2) 98

(3) 100 (4) 101

Given the sets A={1,2,3},B={3,4},C={4,5, 6}, 84,

then AU (BN C)is:

(1) {3
(3) {1, 2, 4, 5}

(2) {1, 2, 3, 4}
“4)1{1, 2, 3, 4, 5, 6}

Let A, Band C be sets such that $ # AnBc C.Then 85.

which of the following statements is not true
(1) (CUA)n(CuUB)=C

(2) If (A-C)c B, then ACB

(3) If (A-B)< C, then AcC

4) BNnC=¢

82.

TEST CODE
2807

A TNBIA A e T A U (A N B) RIER 2

(1) A (2) A®
(3) B (4) B¢
o % | Rag wqzaa 2 ?

(1)

(2) x:xeNand x—-4 <15}
B)fx:xeN,x<5and x> 8}
(4) &x : x € N and x° < 40}

x:erand_—1<x<g
2 2

g n(A) =i+ 1 AA CA cA,c...cA,, T4
99

n(UAiJ=
i=1

(1) 99 (2) 98

(3) 100 (4) 101

g A=1{1,2, 3,B=13,4,C=1{4,5, 68, a
Au(BmC)%\'—

(1) {3} 2) {1, 2,3, 4

(3) {1, 2, 4, 5 4 {1,2,3,4,5, 6}
A A, BAIIC S UPR &b ¢ #ANBc Cdl
971 49 DI 1 o I 8 &

(1) (CUA)n(CuUB)=C

(2) afe (A-C)c B, 94 AcB

(3) afd (A-B)c C, @@ AcC

(4) BNnC=¢
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TEST CODE
2807

86.

87.

88.

89.

If a > 1, roots of the equation (1 —a)x? + 3ax—-1=0 86.

are :
(1) One positive and one negative
(2) Both negative

(3) Both positive

(4) Both nonreal complex

2 2

The equation 2sin %.cos

X
(1) One real solution

(2) No real solution

(3) Infinitely many real solutions

(4) None of these

If B+cos®a,B+sin’a. are the roots of
x2+2bx+c=0 and y+cos*a,y+sin’a are the
roots of x?> +2Bx+C =0 then

(1) b-B=c-C

(2) b*-B*=c-C

(3) b>’-B*=4(c-C)

(4) 4(b*-B*)=c-C

If one root of ax’+bx+c=0 be square of the other, 89.

then the value of b*+ac?+a’

cis
(1) 3abc (2) -3abc
(3) O (4) None

X = x+l,0<xsghas: 87.

88.

ZONE - 1
afda > 1, AFHNH (1 —a)x?2 + 3ax— 1 =0 qd
HUE
(1) Ueh g=ITcHDb AT Ueh R UTTHD
(2) EFT FOTHD
(3) T g THS
(4) S srarIfas At

JHIHT 2sin2§.cos2x = x+l,0<xsg TG B :
X

(1) U aafd® g

(2) DTS aAMAD B TR

(3) 3= aTIfa® g

(4) 377 4 1 T

Ife B+ cos® o, P + sin? o FHIDHR

x?+2bx+c=0 & Hd & AT y+cos’a,y+sin’ o
FHDBRYT %2 4 OBx + C =0 ol &l dl

(1) b-B=c-C

(2) b®>-B’=c-C

(3) b*’-B*>=4(c-C)

(4) 4(b>-B’)=c-C

fe BN ax’+bx+c=0 &1 Ud o, T P a9 & al

b +ac?+a%c &1 719 BT
(1) 3abc (2) —3abc
(3) 0 (4) ®1g T

Space for rough work

21

A
“eRUTIE "’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 A\

y.




Y. CcLC

¥

90.

91.

92.

93.

94.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

If|x-1|+ | x-2| + |x-3| =26 then complete solution 90.

for x is :
(1) [0, 4]
(3) (_007 0] o [4’ Oo)

(2) (-0, —2) U [4, =)
(4) 4, 4)

If Ix+3l+x > 1then complete solution for x is: 91.
X +

(1) (-5,-2)u (-L=)  (2)(5,-2)

(3) (-1,) (4) (2, «)

Number of real solutions of the equation
x’ +5|X‘+6=0are :
(1) 0

(3) 20

(2) 10
(4) 15

If (x — a) is a factor of x> — a?x + x + 2, then 'a' is 93.

equal to —
(1) 0 (2) 2
(3) -2 4)1

The polynomials P(x) = kx® + 3x%> — 3 and

Q(x) = 2x3 - 5x + k, when divided by (x — 4) leave
the same remainder. The value of k is —

(1) 2 (2) 1

(3) 0 4) -1

92.

94.

TEST CODE
2807

| x-1|+ | x-2| + |x-3| =6 Tdx B forg gul & BT

(1) [0, 4]
(3) (_007 0] o [4’ Oo)

(2) (=0, =2) U [4, x)
(4) =4, 4)

af %ﬂa—qxzﬁmwmﬁm

X +
(1) (-5-2)v(-1,2)  (2)(5,-2)
(3) (-1,%) (4) (2, )
x* +5|x|+6 =0 ISP gl B! T2 |

(1) 0 (2) 10

(3) 20 (4) 15

T (x — a) AP x° — a2k + x + 2 BT YP [UETE ¢, 79
'a’ RTER B—

(1) 0 (2) 2

(3) -2 41

Ife ggual P(x) = kx® + 3x> — 3 @A

Q(x) = 2x3 - 5x + kI (x — 4) ¥ fawifoa foran sman &, 7@
Y FAM U S B, Td k BT A SHT—

(1) 2 (2) 1

(3)0 (4) -1
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ZONE - 1

95. The number of solutions of

95. WHIBRT \[3x® +6x +7 + J5x° +10x + 14

3x?+6x+7 * J5x*+10x+14 = 4-2x - x> . _
v v = 4-2x-—x2 P EAl DI G :

is

(1) 1 @) 2 ! 2) 2
3) 3 @) 4 3)3 (4) 4
96. Expression 4(sin24°+cos6°)equal to 96. &H 4(sin24°+ cos6°) IRTER B —
(1) V315 @) JI5-43 (1) 3 -i5 @) 543
(3) V15+43 4) V15 +243 (3) V15 +4/3 (4) V15+2V3
cotA +cotB cotA +cotB
97. If A+B+C=n, then ZtanA+tanB =. 97. ¥E A+B+C=n, T z4tanA+tanB W1 71 NI |
(1) 4 ) 3 (1) 4 (2) 3
(3) 2 “4) 1 (3) 2 “4) 1
98. Ifroots of x* + 2cx + ab = 0 are real & distinct then 98. I TV x2 + 2cx + ab = 0 B Yol IRfAD qAT =1 B
roots of the equation TI G x2 - 2(a+b)x + a2 + b2+ 2c2 =0 ﬂﬁgﬁ—
x? - 2(a+b)x + a% + b% + 2¢? = 0 are:
(1) Real & equal (2) Real & unequal (1) IRfaD AT IRTER (2) ar=ifde QT A
(3) Imaginary (4) Rational (3) BrfID (4) g
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y cLc , TEST CODE
4 Tecno23 2807
99. The value of p for which both the roots of the 99. p @1 A fordd eraRTel # Rerd g R forg e
equation 4x2 — 20 px + (25 p2 + 15 p-66) = 0 4x2 - 20 px + (25 p2 + 15p—-66)=0 HIA A2 H
are less than 2, lies in - PHE:
(1) (4/5,2) (2) (2, ») (1) (4/5,2) (2) (2, )
(3) 1, -4/5) @) =, -1) (3) 1, -4/5) @) (=2, -1)
100.If a and B are the roots of the equation ax?+bx 100.3f& o TAT B AMBHIU ax? +bx +c=0 & qd B
1 1 1 1
+c=0, then the value of + equal + _
(au+b)  (aB+b) (aw+b)  (ap+b)’ TORE
b2 - 2ac 2ac — b? b2 - 2ac 2ac — b?
(1) ———— (2) ————— (1) ————— @) ———
ac ac ac ac
@) 22 @ > ) e @ 2
a?c? a’c a?c? a’c
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